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5.3.8 (a) H : σ2
1 = σ2

2(= σ2) vs. H : σ2
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(b) Since (n1 − 1)s2
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(d) By LLN, the moment estimate is consistent, as long as the moment exists. Thus, ĉk,m → ck,m,

by LLN. Therefore, from (c), P
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5.3.17 EX = 2(1− θ), V ar(X) = 2θ(1− θ).
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(c) By LLN, X̄ → µ. By continuous mapping theorem, X̄2 → µ2. By Slutsky’s theorem,

√
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5.3.22 Sn ∼ Γ(n/2, 1/2). By B.2.4., E(
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Since s2 → λσ2
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2, by Slutsky’s theorem,
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(b) If λ = 1
2 or σ1 = σ2, T (∆) → N(0, 1). Also tn−2 → N(0, 1). Therefore, (4.9.3) has correct

asymptotic probability of coverage.

(c) If σ2
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1 and λ > 1 − λ, then T (∆) → N(0,Σ) in (2) with Σ > 1. Therefore, (4.9.3) has
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